BIKALI COLLEGE LIBRARY

Total number of printed pages—16
' 3(Sem-5 /CBCS)BOTRE 1/2/3

2021
" (Held in 2022)

BOTANY
(Regular Elective )

Answer the Questions from any one Option.
OPTION-A
Paper : BOT-RE-5016
( Cell and Molecular Biology)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x7=7

TETO RS OeT [eTdl 8

(a) Who invented electron microscope ?

(I ERG Y TR 9F W Rl 2
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(b) What is stem ?

Stem & 2

(c) Write the name of a stain used iIn

fluorescence microscopy.

"TINNY SIF TFe I (A 9Bl BT
T for

(d) Name the subunits of 70S ribosome.

70S ABI’TIR TG A9 B2y |

(e) What is leucoplast ?

SR B F e

(/) Who coined the term ‘mitochondria’ ?

TG FGA" ANCH! I A= SR 2

(99 What is the function of the enzyme’
DNA ligase ?

fCuaq FZE oz o &F 2
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2. Answer the following questions briefly :
2x4=8
Oee fral e 5y TR g

(@) What is the significance of mitosis ?

iz @E oemr ey &F ¢

(b) What is the function of plasma
membrane ?

R I F 2

(c) What is oxysome ?
TS & 2

(d) What are euchromatin and
heterochromatin ?

BOF (Ao N (BT oA [ 2

3. Answer any three of the following
questions : ox3=15

were WA fareiean fofaor iR Te &t e

(a) Describe the structure of t-RNA.
t-RNA I 5157R 31 341 |
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(b) Describe different types of DNA.
Rfon e Burer R 3@ =12
() What is the difference between rough

endoplasmic reticulum and smooth
endoplasmic reticulum ?

S R Tifere SR ) STEATAY
TR AL & 2

(d) Write in brief about non-genetic RNA.
Q-SRI SR, . 93 e s feran

(e} What is lac operon ?

@F AR & 2

4. Answer the following questions :
10x3=30

oot Al et Bel foddl e

(a) Draw and describe the structure and
functions of mitochondria.

NG AR 5199 oF I T2 va IR
39 ]
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Or /=13t

Draw and describe the structure and
functions of chloroplast.

ZRETIF 5154 SR T A9 oG 72D et
|

(b) Describe with diagram the replication
of DNA in eukaryotes.

ooz e Tfom Buraz Spponaeg 3¢
A ?
Or /<!

Describe the process of transcription
in protein synthesis.

2o AT GAFosR 2AfFaret It 71 2

(c) Describe the ultrastructure and
functions of plasma membrane.

PIARRER S 7757 9167 Ol DI 901 0 |

Or /<1

Explain the process of regulation of
gene expression in prokaryotes.

AFREET Y (FEe &1 olRg e Fages
R ey e |

3 (Sem-5 /CBCS) BOT RE 1/2/3/6 5 Contd.



BIKALI COLLEGE LIBRARY

OPTION-B
Paper : BOT-RE-5026
( Economic Botany and Biotechnology)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions / Fill in the
blanks : 1x7=7

Tad eRTER TR il / el SR 7R I 8
(a) Who first coined the term

‘bioinformatics’ ?

AT BTEICAOH =] FLAIW (@A IS
E ?

(b) The essential oil which contains
‘eugenol’ is obtained from

o[ oo AN Wﬂﬁﬂ
CTEIaY TR ] 2 |
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(c) What is epitope ?

«fo5’s & ¢

(d) Storage tissue of leguminous seed is
known as

NSO TGR ARTITANRY T |

(e) The alkaloid found in black pepper is

TS (Al SorwRikie T |

.(f) What is myeloma cell ?

zEW @ e

(g) Write the botanical name of
groundnut.

IR TfgrR@TTre Fi9 &2 |

2. Answer the following questions : 2%x4=8

SR eHTIRR Bl fedl ¢

(a) Write a short note on origin of wheat.

(I Tesifier A 9ol 55 (Gr=d &l
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(b) What are androgenic haploids ? Who
obtained androgenic haploid for the
first time ?

JE EHF (ZATCRNR & 2 (FI JYRIRT AR
TS (ZATC W’ SRk 2

(c) Mention the part used and uses of
cotton.

TR Y T R IR/ T 1|

(d) What is proteome ? Mention the main
branches of proteomics.

S'Baw [ ¢ oIl dam MNAEE T
4|

3. Answer any three of the following
questions : 5x3=15

ST YR oA Al fofabig Tel it e

(a) Write short notes on :

5% (ot ferat 8
(i RAPD
(i) PCR
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(b) What are food adjuncts ? State the
characteristic features of spice.

e AW Sfegw & 2 w=le viRfas
(IR R TR

(c) What is the centre of origin of crop
plants ? Write on different centres of
origin of crop plants as proposed by
Vavilov.

7 S Tedfer (Fmze e & @ 2
oifeare SRRl P Sfegne  Besiied
- TR [ F

(d) What is molecular DNA marker ?
Mention the significance of molecular
marker.

i3 DNA o7 9t IR & 2 saRks R
ez SEd |

(e) State the advantages and
disadvantages of micropropagation.

] AT I SR SRR |
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4. Answer any three of the following
questions : 10x3=30

SoR EPTR A9l [ fofAta Tl A 8

(a) Give the botanical names,
morphological nature of plant part
yielding economic products and uses
of the following : (Any two)

woTs TR Bfgn Remeras J1%, Sdfes
T TeoRaId] T W SRS oS
o2 3R IR S 9 2 (e qon)

(i) Wheat
(3%
(ii) Clove
R

(iti) Soybean
5N

(b) Discuss different branches of
bioinformatics.

Srred i A AT ZTERCIvER [ien =NAFR
SCAG T |
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(c) Discuss the morphology, processing
and uses of tea.

BIEE SeoeEF, Teoma AfFal SR RIS
R Qs 4 |

(d) What is monoclonal antibody ?
Discuss the hybridoma technology
used in monoclonal antibodies
production.

THFEE G5 & 2 Wgee aftafe
Teoimae T AY[EI AL SCADA
&4l |

(e) Write notes on :
Gl fordli
() DNA fingerprinting
DNA freaiafaifoe
(ii) Significance of embryo culture
TN ¢

() Discuss the scope and application of
modern biotechnology.

SiFT (TRAIERWE ARTR IR AR
SCEAGT <5<il |
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OPTION-C
Paper : BOT-RE-5036

( Genetics and Plant Breeding)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x7=7

SR 2EIR] Tl ma 8

(a) Genotype of a dominant plant can be
determined by a test cross. Is it true ?

AT T AG O AR A e e Bz
fRfa <R AR | TR BIEA?

(b)) Name the phenomenon that takes
place due to lack of independent
assortment of two genes.

55 fome Fog IV SRYA ARAGS (Al
ARIGAIOR A {120 |

(c) In which stage does crossing over take
place ?

o fRfAwg @IG! ©I9 A™ve =9 ?
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(d) When does reciprocal translocation
occur ?

A R{T TEe (font Hefoe za 2

(e) What is an individual with an extra set
of chromosomes called ?

Tfefie Fes (it I 1 JfeReis
I i =W 2

(f/ Which parent contributes the most
amount of cytoplasm to the zygote in
case of cytoplasmic inheritance ?

@RAFTN I dfdrae  forp-gd
@GR TS e IR @E v
IE ?

(g) Define acclimatization.

RS g st |

2. Answer the following : 2x4=8
OFR eEI(ART Tes fudll

(@) What are the limitations of the law of
segregation ?

AP ot Aol & 2
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(b) 1If the percentage of crossing over
between two genes is 10 then what will
be the distance between two genes in
centimorgan ?

ol foR ser fom [Ri=me g9 10 e Tea
centimorgan d&dw WG &7 WeR 17y
fEm 2

(c) What is heterosis ?

Heterosis & ?

(d) What do you understand by
aneuploidy ? Give example.

Aneuploidy 3ficsT & & 2 Twisget o |

3. Write briefly on any three of the
following : 5x3=15

R AT 5 e’ Wl 3 (Rt fofAst)
(a) Polygenic inheritance
TSI I

(b) Asexual reproduction in crop plants

IR *PIR ST AW

(c) Definition of euploidy
Euploidy-¥ 3]

(d) Significance of crossing over

fom RRwaR Sies
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(e) Domestication of crop plants

P =R peliferod

4. Answer the following : 10x3=30
TEd NIRRT bed a8

(a) Distinguish between complete and
incomplete linkage. With the help of
example discuss the phenomenon of

linkage. 3+7=10

T O@ o e dren
TRz AR el [RIFe! SAceTn- 391 |

Or/I<1
Discuss the role of polyploidy in crop
improvement. 10

IR REFIES polyploidy Il IRBIOR
OhRe IG5 |

(bp) What do you understand by
cytoplasmic inheritance ? Describe in
detail plastid inheritance in Mirabilis
jalapa. 3+7=10

(@I IXgrs Ifeicel & @i 2 Mirabilis
jalapa © G 2T IAGEIR ARCE 94T
frat |
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Or /341

What can cause a mutation in a gene ?
Explain different types of chemical

mutagens. 3+7=10
e TesifRady &z 71 IR 2 IERS
TARRETIRI TIPS [RICT T DA |

(c) Differentiate between autosomes and
sex chromosomes. Discuss the process
of sex determination with the help of
suitable examples. 3+7=10
Autosomes % (TH FIEER &ren e
| ToYE MR PR Tel [Adied

. Sfferat SIiceTe < |

Or/s343t

State the manifestations of heterosis
and explain its applications in plant
breeding. 5+5=10

Heterosis 3 Ipadr R &3 wi=: ©gwg
Ifaw domee BAR A S 9|
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